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1. Let xoe(O%).Find (sin '3x+cos '3x)".
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2. Find [sin"*(
X
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3. Find (tan™* X—) .
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4. Let g(x):%.ﬁnd g(%) so that g(x) is continuous
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5. Find a,b for f(x)=: a—5x if x<0<1 to be continuous.

gcos(sin(wx)) if x>1

!/
6. Find [1.1x\/1— X +sin*1(x)} |

/
7. Find [1.1xsin’1x+ 1—x2].

8. Show that for any ac[-11], sin(sin *a)=a.How about sin '(sinx) if
xeR ?

9. Show that when xec[—11], sin ‘x+cos ™ x= g . [Similar results for the

other inverse trigonometric functions]

10. Let f(x) be an strictly increasing function defined on [a,b] thatis

invertible. If f(X) is continuous, then f *(y) isalso continuous. If
f(x) isdifferentiable and f'(x,)=0,then f *(y) is differentiable at
y="f(x). [(AEENTEREEN K E R g2 HEny) ~ Talfy
BRI S B B R T ) AR o (ELERAIMAS A E8 - 3E # 0 IRRE ERA BRET o
By TR — B — BB R RIS BOR R A BE RS e R


https://www.youtube.com/playlist?list=PLKJhYfqCgNXjkwxSf-xDV47b9ZXDUkYiN
https://www.youtube.com/watch?v=2yhgGjBklyc&list=PLKJhYfqCgNXjNzXUa9hI2IfknA8Q7iSwE&index=11

